ANSWERS for the Practice Test for Acids and Bases

What is a hydronium ion? ;8" ion, another way to write an acid ion.

What are the 2 products of every Arrhenius Acillrrhenius Base neutralization?
It always forms a salt and water. Salts are iocpoimpounds.

3. Most acid base indicators are weak acids.
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When sulfuric acid is in the beaker, the onlgatéve ion in solution would be S&
When vinegar is in your beaker, name 4 waysszibe the only positive ion present.
H*tions or protons, or #0™*ions or, H'ion donors in solution.
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6. For each of the acids in table K, put monopdiri next to each one for monoprotic, diprotictmprotic. All of
the acids are monoprotic (oné*ibn in the formula), except sulfuric, sulfurousgarbonic which are diprotic
(have 2 H'in formula), while phosphoric is triprotic (3"Hn formula).

In an alternate theory of acids and bases, @ibashydrogen ion acceptor (like BH
In an alternate theory of acids and bases, idnsaa hydrogen ion donor (like,B)
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9. When you add bromcresol green to a solution piilof 4.5, what color is expected?
It would turn green (yellow blue mix)

10. When you add phenolphthalein to a solutionanbonated water, what color is expected? It wbealén acid, so
colorless. What could you add to get a differenio? Add some base, get pH over 8 to get to thie golor.

11. You neutralize 25.00 mL of 2.28 M hydrochlaaimid with 20.0 mL calcium hydroxide solution.
What is the molarity of the base? UsgW = MgV formula to get:

(1)(2.28 m)(25.00 mL) = (M)(20.0 mL)(2) then, solve fogM 1.43 M Base(3 SF)

12. Write the balanced chemical equation for wiagigens when you eat tums (calcium hydroxide) fanzset
stomach (excess stomach acid).
ZHQ}\Q) + Ca(OH)(s)—F CaCIg(AQ) + 2HOH|_)
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14. If your solution is 10,000 x more acidic tmme is, and my solution has pH 6.2, what’'s youutson’s pH?
10X would be 5.2, 100X would be 4.2, 1000X would3s2, and 10,000X would be 2.2
All whole number changes in pH are 10X.

15. If a solution with a pH of 5.0 has a hydrogen ¢oncentration of 1 x T¥moles H* per liter, describe in terms
of hydrogen ion concentration, what strerigtha solution with pH 1.43? It would be 1x18moles H* per liter

16. If my other solution has a'Htoncentration of 1xI€) what’s the solution’s pH? The pH is 2

17. How many hydroxide ions would it take to neliggthe solution in question 16?
A solution with pH 2 has a hydrogen ion cartcation of 1 x 1G moles H! per liter, or one-hundredth of a mole
of hydrogen ions per liter. One mole is Aadgp’s number, so one-hundredth of a mole of hyeindgns is
6.02 x 18" H™ions. It would take exactly that many hydroxidasdo reach neutral.

18. 1f 305. mL of 4.11 M 5O, is used to neutralize 1234 ml of KOH, what'’s tlasd molarity?
Use MV = MgVg formula to get: (2)(4.11 M)(305. mL) = gM1234 mL)(1)
asulve for the M
203M=M with 3 SF



19. Show the chemical reaction of ammonia gomtg water that explains how N is a base.
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Nit) + HOHy, > NHng + OH'xg

Ammonia accepts a H+1 ion, therefore it's a basater donates this H+1 ion, so it's an acid.

20. Acid rain is causing problems in the soidms don’t grow as well with acidic soils. Whalid@ompound can
farmers put onto their ground to help neutrasiame of that acid?
Anything solid that would be a base in solutisaly, magnesium hydroxide. You would need to putrmough,
but it would be easy to use too much. Don’t fisthis at home (silly).

21. Make up one problem for acid base titrataong solve it. And it better be a good one, witlisutoo!



